
 1

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 
 
 

 REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

GABIENETE 



 2

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

1 215937600 Shroud, evaporator fan mounting  
5 5303292398 Fan blade (functional part)  
8 G187559 Bushing-motor mtg,(2)  
9 5303292396 Bracket, motor mounting, front  
10 5304405085 Cover-evap coil  
11 5303208309 Button - plug short test hole (non-illustrated)  
12 215230400 Plug-harness holeoptional  
13 5300158289 Motor-evap fan  
14 5303292397 Bracket, motor mounting, rear  
15 218708700 Light bulb / lamp crisper light, (2)  
15 215812200 Light bulb / lamp, 25w  
16 5308000129 Socket, light / lamp (functional part)  
16 5303299157 Socket-light/lamp, crisper light (functional part)  
17 533292408 Trough, drain  
18 215245000 Support - evaporator cover, (2)  
22 215774918 Plug-button, black, upr hinge holes (frt21prcb6)  
23 215266301 Tube, drain, with seal ring  
24 5303207353 Seal ring, drain tube, (incl. in item 23), (non-illustra 
25 5303292412 Spout - drain tube  
28 53032892062 Bolt-roller adj, hex head, 5/16-24 x 7/8 (not illustrate 
29A 215003200 Washer, .40 xa .63 x .16, nylon  
29B 215314301 Washre, .40 x .75 x .06, nylon  
30 218993701 Bracket-lower hinge,rh ,w/hinge pin  
34 21873700 Washer, ctr hinge pin  
35 218780003 Bracket-ctr hinge, black  
36 215095900 Pin - center hinge  
37 533321083 Trim-cabinet corner, black (frt21prcb6)  
38 218215244 Bracket-upper hinge,with closer ,black ,lh  
40 5303323268 Cover - upper hinge, black  
41 5303294246 Grommet-shelf mtg,1.25" long  
43 218615300 Rolller assembly, front, (2)  
44 218738300 Roller asssembly, rear, (2)  
45 5304455651 Screw,hex wshr hd ,8-15a x .5 ,spec  
47 218233300 Channel, shelf mounting, side, (2)  
48 218877701 Channel-shelf mtg. center 
52 215454600 Tube-water, ice mold fill, elbow  
58 5304455651 Screw,hex wshr hd ,8-15a x 0.500 ,special  
59 518188000 Screw, pan head, 10-32 x 0.625, hinge/ mullion, thread forming 
60 2187362501 Screw,hex washer head ,8-18ab x 1.250  
65 530301361 Pin - push, plastic (non-illustrated) (incl. in item 25) 
72 218359615 Grille/kickplate,black  
74 215423500 Shield-light,frzr  
78 5304455651 Screw-bracket,hex wshr hd ,8-32ca x 0.500  
81 5304455650 Screw,hex wshr hd ,8-15a x 0.625 ,low profile  
83 5308000107 Motor-bracket connector (non-illustrated)  
89 215741401 Cover-machine compt  
92 5303001479 Screw-hinge mtg, hex hd, 1/4-20 x 0.875 (fru17b2jw3, fru17b2jw4) 
93 218362603 Plug-grille,black 
94 5303319993 Cover - air duct  
95 218663101 Gasket-air duct cvr  
96 215775901 Cover-fan access  
97 5303289299 Bracket-im plug  
98 215099718 Plug-button,black  

 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

 GABIENETE 



 3

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

PUERTA  



 4

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

1 5.303E+09 Gasket-frzr door,black ,magnetic  
2 218730616 Gasket- refr door, black, magnetic  
3 215784001 Panel-inner door,refr  
4 215516220 Rack-door  
5 218809801 Support-door rack, r.h.  
5 218758602 Support-door rack,rh/lh  
6 518809701 Support-door rack, l.h.  
7 5.303E+10 Door-dairy  
8 215516220 Rack-door  
9 215278301 Panel-inner door,frzr  
11 218626248 Panel- frzr door, stainless steel, rh, w/foam insul 
12 218395401 Nameplate, black  
13 5.303E+09 Door stop, refr door  
13 215030018 Door stop, black, frzr-f/models frt22rhab0, frt22thab0 
15 218626147 Panel-ext refr door,stainless steel ,w/foam insulatn 
18 218756502 Handle-door,stainless steel ,with insert,& set screw 
21 218578600 Screw-door stop mtg, phl truss head, 10-16 x 3/4, bumpermtg 
22 5.303E+09 Bearing - hinge  
26 215817806 Tray-egg accessory - not original equipment  
34 218783202 Bumper-light, switch, black  
49 218592305 Bin-door, gallon, with trim  
58 218781100 Screw, pan head, 8-18 x 0.625-flsc23f6db1/w0/w1  
79 218755402 Screw-set,10-32 x 0.375  
80 218755503 Screw-shoulder,#10 ab ,handle mounting  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

PUERTA 



 5

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

 CAJONES 



 6

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

1 5303299280 Mullion, black-f/models frt22rhab0, frt22thab0  
5 218752300 Heater-mullion  
6 218845601 Tapping plate, mullion mtg, (2)  
7 218907501 Top panel-refr,hasc  
8 218909707 Divider,styrofoam ,w/foil tape  
9 215058300 Bottom panel, freezer  
11 5304409141 Shelf-freezer, with trim  
12 218634902 Deflector-air, "paddle"  
13 218629900 Cover-air deflector  
14 5309918806 Switch-light/lamp (non-illustrated part)  
15 5303001179 Light bulb/lamp, 40w (frs23kf7ab0, frs23kf7q0, frs23kf7aw0) 
16 241513901 Socket-light/lamp  
17 215932906 Control box  
18 5304414918 Knob-temp control,(damper)  
18 5304414917 Knob-temp control,refr  
19 5303286905 Switch-energy saver, rocker type (non-illustrated part) 
21 5304405658 Control-temperature  
22 218660701 Sleeve-insulator, plastic tube, temp sensor  
23 215846602 Timer-defrost  
25 5303308349 · trim-crisper cover  
25 5303307715 · control-humidity  
25 215216649 Cover-crisper pan, with beam, trim, humid cont  
26 5303292386 Pan-crisper, (2)  
28 215341200 End cap-shelf, protector  
31 5303304632 Pan, meat  
34 5303212918 Container - ice (non-illustrated)  
36 215406115 Shelf-"spill safe", fixed, teal graphics, (5)  
42 215002301 Hanger - pan / tray, rh, (non-illustrated)  
45 5304455651 Screw,hex wshr hd ,8-15a x .5 ,spec 
46 218278403 Front-crisper pan, (2)  
47 218390564 Insert-pan cover, glass, teal, graphics  
51 215132801 Duct-meat keeper,upper  
52 215132901 Control, damper, meat keeper duct  
54 215133100 Duct - meat keeper, lower  

59 218188000 
Screw, pan head, 10-32 x 0.625, hinge/ mullion, thread 
forming 

67 218278701 Front-meat pan  
77 5303001216 Washer-nylon 3/16 x 5/8 od (7) (non-illustrated)  
81 5304455650 Screw,hex wshr hd ,8-15a x 0.625 ,low profile  

 
 
 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

 CAJONES 



 7

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

SISTEMA 



 8

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

1 5304439515 Condenser  
2 5303289029 Clip, condenser mounting, (4)  
4 5303305677 Drier-filter,r134a system  
5 218671800 Wiring harness, main  
6 215633901 Harness, wiring, machine compt  
7 215459201 Cord - electric power  
8 218803400 Cover - wiring  
13 218168602 Heat exchanger, suction line 
14 5317842502 Heater, defrost (functional part)  
15 5303321220 Evaporator  
16 5308000110 Strap - evaporator/heater, aluminum (2)  
17 5316651102 Insulatior - evaporator, plastic  
18 5303292407 Insulation block,rh  
19 218631200 Tube,rubber  
20 5303292406 Insulation block,lh  
20 5303292405 Insulation plug,lh  
21 5303917954 Thermostat-defrost  
22 218811100 Base-compressor mtg,(drain pan)  
23 218513300 Grommet-compressor mounting, (4)  
25 218773500 Screw-compressor mtg, hex washer head, 10 b x 1 1/4 prod 
29 5304443725 Compressor,r134a ,w/o electricals  
30 216649300 Starter-ptc  
32 218888601 Clamp, elec cont mtg, compressor  
41 5308000039 Screw, hex washer head, 8-32 ca x 0.500, (7), serranted head 
43 5303001199 Clamp-service cord,strain relief ,galv steel  
45 5304455651 Screw,hex wshr hd ,8-15a x .5 ,spec  
54 5303289311 Rail, compressor, support  
54 5303289292 Rail-cabinet base,front  
54 5303289027 Rail-cabinet base,rear  
55 218909902 Capacitor-run, 180 vac, 20 mircofarad  
56 218769300 Insert-compressor mtg used on production after 8/1/97. 
57 218247300 Clip - wiring harness  
58 215004600 Screw, condenser fan motor, hex serrated washer head, #8-36 x 
59 5303289031 Shroud, condensor fan motor 
60 215501901 Motor - condenser fan  
61 533289032 Blade, condenser fan  

 
 
 
 
 
 
 

 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

SISTEMA 



 9

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

ICE MAKER 



 10

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

1 5308010366 Tube -water inlet, 93" plastic, cut - to - length  
2 5304420650 Spring,shut-off arm  
3 3206299 Plate-i.d.-f/models frt22thab0, frt22thad0, frt22thaw0 
4 5304456658 Gear-f/models frt22thab0, frt22thad0, frt22thaw0  
5 3206303 Plate-mounting-f/models frt22thab0, frt22thad0, frt22thaw0 
6 3206305 Screw-ground wire,8-32 x 1/4  
7 3206306 Motor-ice maker-f/models frt22thab0, frt22thad0, frt22thaw0 
8 5304456661 Spacer-holding sw  
9 3206313 Cam-f/models frt22thab0, frt22thad0, frt22thaw0  
10 3206315 Clamp-f/models frt22thab0, frt22thad0, frt22thaw0  
11 3206319 Thermal cutoff assy-f/models frt22thab0, frt22thad0, frt22thaw0 
12A 3206321 Connector plug, wiring harness (non-illustrated parts) 

12B 3206349 
Harness-wiring, internal im, with plug-f/models frt22thab0, frt22thad0, 
frt22thaw0 

13 3206322 Thermostat assy, ice maker-f/models frt22thab0, frt22thad0, frt22thaw0 

14 3206323 
Screw-sw to support, #4-24 x 3/4, (2)-f/models frt22thab0, frt22thad0, 
frt22thaw0 

15 5304456667 Switch,(3)  
16 3206326 Support-f/models frt22thab0, frt22thad0, frt22thaw0 
17 5303320545 Mold - ice maker , with heater, radius cube  
18 5304456670 Ejector  
19 3206330 Bearing & inlet-f/models frt22thab0, frt22thad0, frt22thaw0 
20 3206331 Screw, #8-18 x 3/8, (2)-f/models frt22thab0, frt22thad0, frt22thaw0 
21 3206332 Ice stripper-f/models frt22thab0, frt22thad0, frt22thaw0 
22 5304456673 Arm,shut-off  

23 3206334 
Screw-sup/mold body, #8-18 x 1, (4)-f/models frt22thab0, frt22thad0, 
frt22thaw0 

24 5304456675 Lever-arm  

25 3206336 
Screw-arm levr/sprt, #8-18 x 9/16-f/models frt22thab0, frt22thad0, 
frt22thaw0 

26 215762100 Screw-thermo/sprt,4-24 x 3/8 ,(4)  

27 3206338 
Screw-sw&spcr/plate, #4-40 x 1, (2)-f/models frt22thab0, frt22thad0, 
frt22thaw0 

28 3206339 Screw-timing stop,4-40 x 3/8 
29 3206340 Screw-mtr & sw/plate,4-40 x 3/4  
30 3206341 Screw-timing,8-32 x 1  
31 5304456680 Insulator  
32 326343 Plate-valve switch-f/models frt22thab0, frt22thad0, frt22thaw0 
33 3206344 Spring  
34 3206345 Screw-mtg plate/sprt,8-18 x 7/16  
35 3206346 Screw-gear/cam, #6-20 x 0.437-f/models frt22thab0, frt22thad0, frt22thaw0
36 3206347 Cover-complete-f/models frt22thab0, frt22thad0, frt22thaw0 
37 5303320544 Date, sheet, ice maker  
38 5303207445 Envelope-data sheet  

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

ICE MAKER 



 11

39 5303289065 Harness-wirng, im to refr-f/models frt22thab0, frt22thad0, frt22thaw0 
40 5305877995 Strip - sealing  
41 5308000039 Screw, hex washer head, 8-32 ca x 0.500, (7), serranted head 
43 5303001199 Clamp-wiring harness, galv steel, strain relief (non illustrated) 
44 5308000133 Clamp, nylon-f/models frt22thab0, frt22thad0, frt22thaw0 
45 5304455651 Screw,hex wshr hd ,8-15a x .5 ,spec  
46 5303001193 Clamp-inlet tube, metal-f/models frt22thab0, frt22thad0, frt22thaw0 
47 5308000205 Adapter-water supply, straight  
48 218731600 Nut,7/16 x 20 ,nylon  
49 5303001147 Plug - rear panel & coil cover (2)  
52 218947201 Tube-fill  
55 218720400 Valve-water,single solenoid,5  
59 5303001191 Sleeve-tube insert-f/models frt22thab0, frt22thad0, frt22thaw0 
60 5303207328 Screw, hex washer head, #8-15(a) x 1 cial (non illustrated) 
61 218721500 Bracket - leveling, ice maker 
62 241690701 Screw-im mtg brkt,hex hd ,#8-32 x 3/8  
64 5304455846 Clamp-copper tube,steel  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 12

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 
 
 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

DIAGRAMA ELECTRICO 



 13

Benito Juárez # 1500 Ote, Zitoón, Guadalupe, N.L. 
                                                                                                                                                   Tel. (01 81) 83 37 7999 y 49 Fax. 83 98 16 11 

                                                                                                                          Tel. 01 800 872 16 10 y 79 99     
                                  NACIONAL E IMPORTACIÓN                                                     Fax directo 01 800 872 16 11 ventas@denek.com 

 
 

 
 

 

REFIRGERADOR FRIGIDAIRE MOD. 
FRT22IRSHBHB0 

DIAGRAMA ELECTRICO 


